T-Pulleys System MAED-FIX® with Clamp Hub, Pitch 5mm from Aluminium

b b, b b,
L ==
[ a s a)
| [aa] =l | [aa]
. — | HErreyd zZ 4 —  — HEw¥red zZ
HIENE HIERE
L L
Type 1F Type 2

Material: Aluminium similar to EN AW2017A. Flanges zinc-plated steel. Screw DIN 912-12.9, black.

The hubs of the pulleys are slotted, similar to clamp collars single-split (shaft collars). The pulleys are fixed on the shafts with the clamping
screw. No more machining, quick assembly, does not damage the shaft, even distribution of clamping forces.

Ordering Details: e.g.: Product No. 162314K04, Pulley System MAED-FIX, Pitch T5, 14 Teeth, Timing Belt Width 16 mm, Bore 4 mm

Profile T 5, Timing Belt Width 16 mm

Product No. Number  Bore Outside-@ Screw  Fastening Transmittable

Belt Width Designation of teeth BH7"  Type Pulley Flange d ND b L R2 b, DIN912 torque torque? Weight
16 mm mm mm mm mm mm mm mm mm mm mm Nm Nm g
162 314 K04 ALK 29 T5/14-2 14 4 1F 21,44 25 2228 15 21 29 196 58 M25x8 1,21 1,84 243
162 314 KO5 ALK 29 T5/14-2 14 5) [P 21,44 25 2228 15 21 29 196 58 M25x8 1,21 2,28 23,9
162 314 K06 ALK 29 T5/14-2 14 6 1F 21,44 25 2228 15 21 29 196 58 M25x8 121 2,64 23,2
162 315 K04 ALK 29T5/15-2 15 4 1F 23,03 28 2387 16 21 29 196 58 M25x8 1,21 1,83 28,8
162 315 K05 ALK 29 T5/15-2 15 5 1F 23,03 28 2387 16 21 29 196 58 M25x8 1,21 1,76 28,4
162 315 K06 ALK 29 T5/15-2 15 6 1F 23,03 28 2387 16 21 29 196 58 M25x8 1,21 2,61 27,7
162 316 K04 ALK 29 T5/16-2 16 4 1F 24,62 32 2545 20 21 29 225 58 M25x8 1,21 1,92 35,7
162 316 KO5 ALK 29 T5/16-2 16 5 1F 24,62 32 2545 20 21 29 225 58 M25x8 121 2,34 353
162 316 K06 ALK 29 T5/16-2 16 6 1F 24,62 32 2545 20 21 29 225 58 M25x8 1,21 2,76 345
162 316 KO8 ALK 29 T5/16-2 16 8 1F 24,62 32 2545 20 21 29 225 58 M25x8 1,21 3,54 329
162 318 K04 ALK 29 T5/18-2 18 4 1F 27,81 32 2865 20 21 29 225 58 M25x8 1,21 1,92 42,0
162 318 KO5 ALK 29 T5/18-2 18 5) I[P 27,81 32 2865 20 21 29 225 58 M25x8 1,21 2,34 43,0
162 318 K06 ALK 29 T5/18-2 18 6 1F 27,81 32 2865 20 21 29 225 58 M25x8 121 2,76 41,0
162 318 KO8 ALK 29T5/18-2 18 8 1F 27,81 32 2865 20 21 29 225 58 M25x8 1,21 3,54 39,2
162 319 K04 ALK 31 T5/19-2 19 4 1F 29,40 36 3024 24 21 31 270 73 M3x10 2.1 3,29 52,6
162 319 K05 ALK 31 T5/19-2 19 5) 1F 29,40 36 3024 24 21 31 270 73 M3x10 2,1 4,01 52,1
162 319 K06 ALK 31 T75/19-2 19 6 1F 29,40 36 3024 24 21 31 270 73 M3x10 21 4,75 51,6
162 319 KO8 ALK 31 T5/19-2 19 8 1F 29,40 36 3024 24 21 31 270 73 M3x10 2,1 6,12 49,6
162 319 K10 ALK 31 T5/19-2 19 10 1F 29,40 363024 24 21 31 270 73 M3x10 2.1 7,42 47,4
162 320 K04 ALK 31 T5/20-2 20 4 1F 30,99 36 31,83 24 21 31 270 73 M3x10 21 3,29 56,3
162 320 KO5 ALK 31 T5/20-2 20 5 1F 30,99 36 3183 24 21 31 270 73 M3x10 21 4,01 55,7
162 320 K06 ALK 31 T5/20-2 20 6 P 30,99 36 3183 24 21 31 270 73 M3x10 21 4,75 55,2
162 320 KO8 ALK 31 T5/20-2 20 8 1F 30,99 36 3183 24 21 31 270 73 M3x10 2,1 6,12 53,3
162 320 K10 ALK 31 T5/20-2 20 10 1F 30,99 36 3183 24 21 31 270 73 M3x10 2.1 7,42 51,0
162 322 K04 ALK 31 T5/22-2 22 4 1F 34,17 38 3501 27 21 31 291 73 M3x10 2,1 3,33 65,4
162 322 KO5 ALK 31 T5/22-2 22 5) 1F 34,17 38 3501 27 21 31 291 73 M3x10 2,1 412 64,9
162 322 K06 ALK 31 T5/22-2 22 6 1F 34,17 38 3501 27 21 31 291 73 M3x10 21 4,82 64,4
162 322 KO8 ALK 31 T5/22-2 22 8 UIP 34,17 38 3501 27 21 31 291 73 M3x10 21 6,24 625
162 322 K10 ALK 31 T5/22-2 22 10 1F 34,17 38 3501 27 21 31 291 73 M3x10 21 7,58 60,2
162 322 K12 ALK 31T5/22-2 22 12 1F 34,17 38 3501 27 21 31 291 73 M3x10 2,1 8,85 57,5
162 324 KO5 ALK 31 T5/24-2 24 5 1F 37,36 42 3820 28 21 31 291 73 M3x10 2.1 4,02 76,9
162 324 K06 ALK 31 T5/24-2 24 6 1F 37,36 42 3820 28 21 31 291 73 M3x10 2,1 4,79 76,3
162 324 KO8 ALK 31 T5/24-2 24 8 1F 37,36 42 3820 28 21 31 291 73 M3x10 21 6,20 74,4
162 324 K10 ALK 31 T5/24-2 24 10 1F 37,36 42 3820 28 21 31 291 73 M3x10 21 7,54 722
162 324 K12 ALK 31T5/24-2 24 12 1F 37,36 42 3820 28 21 31 291 73 M3x10 2,1 8,82 69,4
162 325 K06 ALK 34 T5/25-2 25 6 1F 38,95 44 3979 32 21 34 354 10,0 M4x12 4,6 8,13 93,2
162 325 KO8 ALK 34 T5/25-2 25 8 1F 38,95 44 3979 32 21 34 354 10,0 M4x12 4,6 10,5 91,2
162 325 K10 ALK 34 T5/25-2 25 10 UIP 38,95 44 3979 32 21 34 354 10,0 M4x12 4,6 12,9 88,8
162 325 K12 ALK 34 T5/25-2 25 12 1F 38,95 44 3979 32 21 34 354 10,0 M4x12 4,6 15,0 85,7
162 325 K14 ALK 34 T5/25-2 25 14 1F 38,95 44 3979 32 21 34 354 10,0 M4x12 4,6 171 82,2
162 326 KO8 ALK 34 T5/26-2 26 8 1F 40,54 44 4138 32 21 34 354 10,0 M4x12 4,6 10,5 95,9
162 326 K10 ALK 34 T5/26-2 26 10 1F 40,54 44 4138 32 21 34 354 10,0 M4x12 46 12,9 93,5
162 326 K12 ALK 34 T5/26-2 26 12 1F 40,54 44 4138 32 21 34 354 100 M4x12 4,6 15,0 90,5
162 326 K14 ALK 34 T5/26-2 26 14 1F 40,54 44 4138 32 21 34 354 100 M4x12 4,6 171 86,9
162 327 K08 ALK 34 T5/27-2 27 8 1F 42,13 48 4297 34 21 34 374 100 M4x12 4,6 10,7 107
162 327 K10 ALK 34 T5/27-2 27 10 1F 42,13 48 4297 34 21 34 374 10,0 M4x12 4,6 131 104
162 327 K12 ALK 34 T5/27-2 27 12 1F 42,13 48 4297 34 21 34 374 100 M4x12 4,6 15,4 101
162 327 K14 ALK 34 T5/27-2 27 14 1F 42,13 48 4297 34 21 34 374 100 M4x12 46 17,5 97,7
162 327 K15 ALK 34 T5/27-2 27 15 1F 42,13 48 4297 34 21 34 374 100 M4x12 4,6 18,5 95,7
162 327 K16 ALK 34 T5/27-2 27 16 1F 42,13 48 4297 34 21 34 374 100 M4x12 4,6 19,7 93,5

1) Bore tolerance in wheel area H7 continuous; in clamping area H7 before slotting. 2) Interference circle-@ screw head. 3 Max. friction torque of the hub.

MV |
154 MADLER®

GEGRUNDET 1852




T-Pulleys System MAED-FIX® with Clamp Hub, Pitch 5mm from Aluminium

b b, b b,
1=k =+
{2 [a) kg [a}
1 a5 el | m:
—_  — | HErreyd zZ —  —  — HEwTey zZ
HIKRNE H IS
L
Type 1F Type 2

Material: Aluminium similar to EN AW2017A. Flanges zinc-plated steel. Screw DIN 912-12.9, black.

The hubs of the pulleys are slotted, similar to clamp collars single-split (shaft collars). The pulleys are fixed on the shafts with the clamping

screw. No more machining, quick assembly, does not damage the shaft, even distribution of clamping forces.

Ordering Details: e.g.: Product No. 162328K08, Pulley System MAED-FIX, Pitch T5, 28 Teeth, Timing Belt Width 16 mm, Bore 8 mm

Profile T 5, Timing Belt Width 16 mm

Product No. Number  Bore Outside-@ Screw  Fastening Transmittable

Belt Width Designation of teeth BH7"  Type Pulley Flange d ND b L R2 b, DIN912 torque torque3 Weight
16 mm mm mm mm mm mm mm mm mm mm mm Nm Nm g
162 328 KO8 ALK 34 T5/28-2 28 8 1F 43,72 48 4456 34 21 34 374 10 M4x12 4,6 10,7 112
162 328 K10 ALK 34 T5/28-2 28 10 [P 43,72 48 4456 34 21 34 374 10 M4x12 4,6 131 109
162 328 K12 ALK 34 T5/28-2 28 12 1F 43,72 48 4456 34 21 34 374 10 M4x12 4,6 15,4 106
162 328 K14 ALK 34 T5/28-2 28 14 1F 43,72 48 4456 34 21 34 374 10 M4x12 4,6 17,5 103
162 328 K15 ALK 34 T5/28-2 28 15 1F 43,72 48 4456 34 21 34 374 10 M4x12 4,6 18,5 101
162 328 K16 ALK 34 T5/28-2 28 16 1F 43,72 48 4456 34 21 34 374 10 M4x12 4,6 19,7 929
162 330 KO8 ALK 34 T5/30-2 30 8 1F 46,91 51 47,75 39 21 34 414 10 M4x12 44 10,5 134
162 330 K10 ALK 34 T5/30-2 30 10 1F 46,91 51 4775 39 21 34 414 10 M4x12 4.4 12,9 131
162 330 K12 ALK 34 T5/30-2 30 12 1F 46,91 51 47,75 39 21 34 414 10 M4x12 4,4 15,1 128
162 330 K14 ALK 34 T5/30-2 30 14 1F 46,91 51 47,75 39 21 34 414 10 M4x12 44 17,3 125
162 330 K15 ALK 34 T5/30-2 30 15 1F 46,91 51 47,75 39 21 34 414 10 M4x12 44 18,5 123
162 330 K16 ALK 34 T5/30-2 30 16 I[P 46,91 51 47,75 39 21 34 414 10 M4x12 44 19,4 120
162 330 K20 ALK 34 T5/30-2 30 20 1F 46,91 51 4775 39 21 34 414 10 M4x12 4,4 23,3 111
162 332 K10 ALK 34T5/32-2 32 10 1F 50,09 54 5093 42 21 34 43 10 M4x12 4,2 12,2 151
162 332 K12 ALK 34T5/32-2 32 12 1F 50,09 54 5093 42 21 34 43 10 M4x12 4,2 14,4 148
162 332 K14 ALK 34T5/32-2 32 14 1F 50,09 54 5093 42 21 34 43 10 M4x12 4,2 16,5 144
162 332 K15 ALK 34 T5/32-2 32 15 1F 50,09 54 5093 42 21 34 43 10 M4x12 4,2 17,5 142
162 332 K16 ALK 34 T5/32-2 32 16 1F 50,09 54 5093 42 21 34 43 10 M4x12 4,2 18,5 140
162 332 K20 ALK 34 T5/32-2 32 20 1F 50,09 54 5093 42 21 34 43 10 M4x12 4,2 223 130
162 336 K10 ALK 34 T5/36-2 36 10 1F 56,46 63 5730 42 21 34 43 10 M4x12 4,2 12,2 186
162 336 K12 ALK 34 T5/36-2 36 12 1F 56,46 63 5730 42 21 34 43 10 M4x12 4,2 14,4 183
162 336 K14 ALK 34 T5/36-2 36 14 I[P 56,46 63 5730 42 21 34 43 10 M4x12 4,2 16,5 179
162336 K15 ALK 34 T5/36-2 36 15 1F 56,46 63 5730 42 21 34 43 10 M4x12 4,2 17,5 177
162 336 K16 ALK 34 T5/36-2 36 16 1F 56,46 63 5730 42 21 34 43 10 M4x12 4,2 18,5 175
162 336 K20 ALK 34 T5/36-2 36 20 1F 56,46 63 5730 42 21 34 43 10 M4x12 42 22,3 165
162 336 K25 ALK 34 T5/36-2 36 25 1F 56,46 63 5730 42 21 34 43 10 M4x12 42 26,9 150
162 340 K12 ALK 38 T5/40-2 40 12 1F 62,82 66 6366 50 21 38 542 135 M5x20 8 23,6 253
162 340 K14 ALK 38 T5/40-2 40 14 UIF 62,82 66 6366 50 21 38 542 135 M5x20 8 271 249
162 340 K15 ALK 38 T5/40-2 40 15 1F 62,82 66 6366 50 21 38 542 135 M5x20 8 28,7 247
162 340 K16 ALK 38 T5/40-2 40 16 1F 62,82 66 6366 50 21 38 542 135 M5x20 8 30,4 244
162 340 K20 ALK 38 T5/40-2 40 20 1F 62,82 66 6366 50 21 38 542 135 M5x20 8 36,9 233
162 340 K25 ALK 38 T5/40-2 40 25 1F 62,82 66 6366 50 21 38 542 135 M5x20 8 444 216
162 342 K12 ALK 38 T5/42-2 42 12 1F 66,01 71 66,85 50 21 38 542 135 M5x20 8 23,6 274
162 342 K14 ALK 38 T5/42-2 42 14 1F 66,01 71 66,85 50 21 38 542 135 M5x20 8 271 270
162 342 K15 ALK 38 T5/42-2 42 15 1F 66,01 71 6685 50 21 38 542 135 M5x20 8 28,7 268
162 342 K16 ALK 38T5/42-2 42 16 1F 66,01 71 6685 50 21 38 542 135 M5x20 8 30,4 265
162 342 K20 ALK 38 T5/42-2 42 20 1F 66,01 71 6685 50 21 38 542 135 M5x20 8 36,9 254
162 342 K25 ALK 38 T5/42-2 42 25 P 66,01 71 66,85 50 21 38 542 135 M5x20 8 44,4 237
162 348 K12 ALK 38 T5/48-0 48 12 2 75,55 - 7639 50 21 38 542 135 M5x20 8 23,6 313
162 348 K14 ALK 38 T5/48-0 48 14 2 75,55 7639 50 21 38 542 135 M5x20 8 27,1 309
162 348 K15 ALK 38 T5/48-0 48 15 2 75,55 7639 50 21 38 542 135 M5x20 8 28,7 307
162 348 K16 ALK 38 T5/48-0 48 16 2 7555 7639 50 21 38 542 135 M5x20 8 30,4 305
162 348 K20 ALK 38 T5/48-0 48 20 2 75,55 7639 50 21 38 542 135 M5x20 8 36,9 294
162 348 K25 ALK 38 T5/48-0 48 25 2 /5155 7639 50 21 38 542 135 M5x20 8 44 4 276
162 360 K12 ALK 38 T5/60-0 60 12 2 94,65 9549 50 21 38 542 135 M5x20 8 23,6 454
162 360 K14 ALK 38 T5/60-0 60 14 2 94,65 9549 50 21 38 542 135 M5x20 8 271 450
162 360 K15 ALK 38 T5/60-0 60 15 2 94,65 9549 50 21 38 542 135 M5x20 8 28,7 448
162 360 K16 ALK 38 T5/60-0 60 16 2 94,65 9549 50 21 38 542 135 M5x20 8 30,4 445
162 360 K20 ALK 38 T5/60-0 60 20 2 94,65 9549 50 21 38 542 135 M5x20 8 36,9 434
162 360 K25 ALK 38 T5/60-0 60 25 2 94,65 9549 50 21 38 542 135 M5x20 8 44,4 417

1) Bore tolerance in wheel area H7 continuous; in clamping area H7 before slotting. 2) Interference circle-@ screw head. 3 Max. friction torque of the hub.

MV |

GEGRUNDET 1852

MADLER*

155



